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Select the best one answer (4%) '
( )1.Noise-induced hearing loss can detected through audiometric. Early impairment is usually detected at which frequency ?
A.20Hz
B.16,000 Hz
C.4000 Hz
D.12,000 Hz
E.8000-10,000 Hz range
( )2.Presbycusis is hearing loss resulting from
A. bacterial ear infection
B. loud noise
C. old age
D. blockage via excess earwax
E. prematurity
( )3.Chronic exposure to loud noise usually results in damage to the
A. stapes
B. inner ear, especially the organ of Corti
C. oval window .
D. tympanic membrane
E. pinna and external auditory canal
( )4.What's the current ICRP recommended limits for exposure to ionizing radiation for genersal population ?
A. 1 mSv/Yr .
B. | mrad/Yr
C. 5 mSv/Yr
D. 5 mrad/Yr

E. 5 mrem/Yr
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